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 We sa,y that two pa,yrnents are equwalent if their present values coméidé - |

* Five equivalent ways of paying interest on a loan of 1 unit of money over [0, 1]:

t=0 t=1 =2 =2 =1 Time, ¢
(1) |4
(3) i?a % - L(I—?l 3:*{:—) Payments |
@ i |
(8) | +— Continuous payment at rate & — ‘

" Notice that !

- the present value of continuous payment at constant rate p(t) = & over [0, 1]

(entry (5) in the table above) is wfl[ = v, i
- the present value of a single payment of i at time ¢ = 1 (entry (4) in the table) ;
is 1, :
- the present vaIue of & single payment of d at time ¢ = 0 (entry (1} in the table) l
isdand d=

Therefore (1) e (5)<(4). I

Ixercise: obtain (3}&{4)e(2). |



